2017~2018F 10 RSB CERFFE—LUZE. ..

—  BAIEIRT ( AKEI16/0\ER , B/\3%y , 48 =l
. R NTFIENONERT  RE—REEEE “"’:

Q:Q0 QAo Q:QcQc-OQ-Oc@: @x
Q:@-@: @- Q.
—. B ((NEEE17. 18R |, 83257 , #3257 )

Q(n (1)28g/mol (2)30(3)3:1
(2) (1)0.3Ny (2)3N4 (3)5.1

(3) (1N@®(2)2((3)2>®>30>0

@(Ui&fﬂf{

(2) BaCl,
(3) (1)BaCly + K,CO3 = 2KCl + BaCO;3 | (2)

BaCO; + 2HCI = BaCl, + H,0 + CO, 1
(4) (1) A8 (2) TRENAERERFIIN HCl BREIZEN K, CO3 EBEKRER
(5) e\ HCl Bt , BIIA BaCl, MREREE , £AUE SO
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fi# 1% Zn [REN x.

IZn + H,S0, =7ZnSO4 + Hy 1

56 2
04¢g

56 x 11.2g

—=——,z=112g, m% = x 100% = 68%.

2 04g 16.25¢g

fi#: m(CuO) =10g x (1 —20%) = 8¢, i®4ER CuRER .
H; + CuO = Cu + H,O

80 64
8g x
80 8g

T ?,:1::6.4g,n:0.1m01.,
& : £k Cu¥RRYE S 0.1 mol,

(1) 8% 2SNk N HNO; ¥IRER = ;
3Fe 4 8HNO;3; = 3Fe(NO3); + 2NO 1 + 4H,0
3 8

0.15 T
1 |
§ = m , = 0.4 mol,
8 T
% SIIRMNAEERRIERAVEZRZ 0.4 mol,
(2) R BERNOYIEE Y ;

3Fe 4 8HNO;3; = 3Fe(NO3); + 2NO 1 + 4H,0

3 2

0.15 Y

3  0.15mol

- = mo , ¥y = 0.1 mol,

2 Yy

% & NO 9F805 0.1 mol X Ny = 0.1N,,



(3) & RERXKIIRNERN 2z ;
3Fe + 8HNO; = 3Fe(NO3), + 2NO 1 + 4H,0

3 4
0.15 z
3 0.15mol

1 p, , z= 0.2 mol,

n(HzO0) = 0.2 mol , m(H20) = 0.2 mol x 18 g/mol = 3.6 g,
& ERUKEIRRIE S 3.6 g,



